

R M M

ROMANIAN MATHEMATICAL MAGAZINE
www.ssmrmh.ro

For $a, b \in \mathbb{R}$, $a \neq b$ solve the system:

$$\begin{cases} 3x + z = 2y + a + b \\ 3x^2 + 3xz = y^2 + 2(a + b)y + ab \\ x^3 + 3x^2z = (a + b)y^2 + 2aby \end{cases}$$

Proposed by Bogdan Rublyov-Ukraine

Solution by Khanh Hung Vu-Ho Chi Minh-Vietnam

$$\begin{cases} 3x + z = 2y + a + b & (1) \\ 3x^2 + 3xz = y^2 + 2(a + b)y + ab & (2) \\ x^3 + 3x^2z = (a + b)y^2 + 2aby & (3) \end{cases}$$

$$\text{We have (1)} \Rightarrow a + b = 3x + z - 2y \quad (4)$$

$$\text{Similarly, we have (2)} \Rightarrow ab = 3x^2 + 3xz - y^2 - 2(a + b)y \quad (5) \text{ and (3)} \Rightarrow$$

$$\Rightarrow 2aby = x^3 + 3x^2z - (a + b)y^2 \quad (6)$$

$$(4) \text{ and (5)} \Rightarrow ab = 3x^2 + 3xz - y^2 - 2y(3x + z - 2y) \quad (7)$$

$$(4) \text{ and (6)} \Rightarrow 2aby = x^3 + 3x^2z - y^2(3x + z - 2y) \quad (8)$$

$$(7) \text{ and (8)} \Rightarrow 2y[3x^2 + 3xz - y^2 - 2y(3x + z - 2y)] = x^3 + 3x^2z - y^2(3x + z - 2y) \Rightarrow$$

$$\Rightarrow x^3 + 3x^2z + 9xy^2 + 3y^2z - 6x^2y - 6xyz - 4y^3 = 0$$

$$\Rightarrow (x - y)^2(x - 4y + 3z) = 0 \Rightarrow x = y \text{ or } x - 4y + 3z = 0$$

$$1) x = y$$

$$\text{We have (1)} \Rightarrow 3x + z = 2x + a + b \Rightarrow x = a + b - z$$

$$\begin{aligned} \text{We have (2)} \Rightarrow 3x^2 + 3x(a + b - x) &= x^2 + 2(a + b)x + ab \Rightarrow \\ \Rightarrow x^2 - (a + b)x + ab &= 0 \Rightarrow (x - a)(x - b) = 0 \Rightarrow x = a \text{ or } x = b \end{aligned}$$

$$1.1) x = a \Rightarrow x = y = z$$

$$\text{We have (1)} \Rightarrow z = a + b - x \Rightarrow z = a + b - a = b \Rightarrow (x, y, z) = (a, a, b)$$

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$1.2) x = b \Rightarrow x = y = b$$

We have (1) $\Rightarrow z = a + b - x \Rightarrow z = a + b - b = a \Rightarrow (x, y, z) = (b, b, a)$

$$2) x - 4y + 3z = 0 \Rightarrow z = \frac{4y-x}{3}$$

$$\textit{We have (1)} \Rightarrow 3x + \frac{4y-x}{3} = 2y + a + b \Rightarrow x = \frac{2y+3(a+b)}{8}$$

We have (2) $\Rightarrow 3x^2 + x(4y - x) = y^2 + 2(a + b) + ab \Rightarrow 2x^2 + 4xy =$

$$= y^2 + 2(a + b)y + ab \Rightarrow 2 \left(\frac{2y + 3(a + b)}{8} \right)^2 + 4y \cdot \frac{2y + 3(a + b)}{8} =$$

$$= y^2 + 2(a + b)y + ab \Rightarrow \frac{1}{8}y^2 - \frac{1}{8}y(a + b) + \frac{9}{32}(a + b)^2 - ab = 0$$

$$\Rightarrow \frac{1}{8}y^2 - \frac{1}{8}y(a + b) + \frac{1}{32}(a + b)^2 + \frac{1}{4}(a + b)^2 - ab = 0 \Rightarrow$$

$$\Rightarrow \frac{1}{8} \left(y - \frac{a+b}{2} \right)^2 + \frac{(a-b)^2}{4} = 0 \Rightarrow a = b \textit{ (Absurd)}$$

So the system has 2 roots: $(x, y, z) = (a, a, b)$ and $(x, y, z) = (b, b, a)$